WS Limiting Reactant  #3



    Name ____________________________

1. Methyl alcohol, CH3OH, is made by reacting carbon monoxide and hydrogen in the presence of
   certain metal oxide catalysts.  How much alcohol can be obtained by reacting 550 g of CO and 
   108 g of H2 according to the following equation?

CO  +  2H2  ------>  CH3OH

2. A common abrasive is SiC, which is sold commercially as Carborundum.  It is prepared by the 
   combination of SiO2 and carbon according to the equation:   SiO2  +  3 C  →  SiC  +  2 CO

    a.   What mass of SiC can theoretically be formed from 10.0g SiO2 and 5.00g C?  
    b. Which is the limiting reactant?
   c. How many grams of the excess reactant are left over?

3. Oxyacetylene torches are used for welding, reaching temperatures near 2000˚C.  These

    temperatures are due to the combustion of acetylene, C2H2, with oxygen according to the equation:



2 C2H2(g)  +  5 O2(g)  →  4 CO2(g)  +  2 H2O(g)

   a. Starting with 125g of both reactants, what is the theoretical yield of water from this reaction?
   b. If 22.5g of water forms, what is the percent yield?
